—
—
o ~ B T
Qyw Qo Qg | ‘)L..] ) k?—_l:
au Qu au N = L’L
Ou Q3 Qy b
N%) L™

Leros repreoud * expesimends’ g
%)
0‘,'J° Mpriowdt,  werghd o yourable \j;\jh expensmont 7
Clumns Ww\t e, welg@ct o~ an Vonjable
L Clumn | cowsperde b ;. Cerlonman)
* Clamam P,euf,ecbvcom Mateix - Vedse ynu%\o,bcolt@f:
— oy — — Qn
h- [ql QA qs] - [3:]
Thor ALz Q% 40y X 495 %y
Linear (embinglion d) the clumns G A



J.:.%wekm W%&%%WXA
wd vet o Fho entrieo of dhe bl b
lm: Quasien: Hoco do we tuews i A 40 bad?

/’(i S Imaging expermert — Measunment
A —
A L
05\3'5;/ A—’Z?_'T; Use < 4o mil/

Previusly: And, 2,7, %, that satfy our
Sualiome:

Now: Wit  fineow tombaingbiono o Ahe edumms
6% mdar A Con froaﬂuw veeto, T 2






B

—

_Sfiri Spor ) the C»lumnsc%aMﬂ%)x A.
s M%d‘cf)scdﬁ/ vedos L <uch ot
pC=L b a  sbdim (need not be wigu)

—>ie. et . M vedns T - can ke

QXIMS&CJ oo finer  (ombnabrsy 6}5 Hre
Colttmng @% A

RarW, (A = C@h&mnslmw/ (A)
.cSFan ( Glummg CA’D -







{1700} &

Cr\mz Tbm
mlm 0%
Prood: " )
NAN " @\\EM‘ Loshouw
(1) Eginring IKVT sreni) () B
Slmn}il] E } I l«m/e,ar\j
~§C§’%&M‘b thod can veelsr P R
be willer Qs [:JQ T
'A[l'}*%ﬂz‘/& A {%eﬁ)\ c;mvc}ml«+

S AR IR i
(1), ]

—;5 B

Want- ol & Immﬁ Jo dhecd €






:DO%{V\H')'W)Z }‘mcauu dependance,

Pr%*c%d%\fw?m ﬁ’,&}-~ 5;} ore @id
3@\%&1‘@«% WM%%%M
vedkse con  he wller o a Qinaar

M“Span“ &}%Gﬂ'w MNZ

YRR rend dinid
| L= ar W
1002 BB

MADNC R Ve







N RS

e ii H, {l‘\ E lxgggg?szj BZ;!}:Z&
) =

ae NOT /QN@J\») cﬂ&fefdad)%@_n
/ﬁ > A _ 5L
7\ A

—_—s  —>
z = b




Thm:  Goneider A = T

-

H the colunns g s A ae l‘m@@ deperd

Then Z=L doe NOT hne a

Whgue seludion - e

“|Ch sy’ —> T® A SINRLE EXAMPLE,

A— B Qe 9, Qo
— | Q. qu Qu
QA QG



R
a X QG

Qv Q. Qg 2 L
Qn Qo Qs As - | b
Qq, Quyo Q n ()(3 b}

Ji\nown /Eeﬁ]nning: To showo
=
'5}/53;53 Clrﬁl) LD A%-—L Shes o}
have o un17w slubes
Seme cdumn- '2* ic a sdudin

T want do Hrd Gndher
goldion .

(an do gimilar fnmff
assumhj:




— o
\a /Qyi) anvhor ¢
A Uy:c}lxh —
O] ©o., Sbl)-ﬁhggel |



;- -

AFRCE. vUKRS MNoTes
%% _94('7? ),0 Q%dﬂds\fb

Q, =
>
9 — _
= O %" @%
47 lﬁ ’E—iaz = (ag, "(F— CL#O






Matrces: A'f = O
A+D
L=7D

Coedn 00,00, B0, [), 02

JEREIE



